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209 ARG N} (Eprst 6422261 ks 161 1 i 23 2 62294788kl k 825 IR Y =5 VKR 600
210 ARTIE R T 5 6422261 9%%*%x%1618 it 2% P 2 62294 788kkskkkk%91 8 IR Y 55 VKR 800
211 ARTIPN MR ERE 6422261 9sekstokoiok 1 632 it 53 2 62294788sekstkotoieorsk 7 36 IR Y 55 KR 600
212 ARTIE R TEE 6422261 9%%k%%%1635 it %% P 2 62294 788skkstskodskskok 1 28 IR 6 =5 UK %R 600
213 ARG FHi 64222619%xk%x%1614 i 55 4 62294788kkkkksokk 751 IR F9 = UK %R 800
214 ARGV + 29 64222619%k%x%1614 i % F 5 62294788%sksksokskskk 420 IR Y 25 UK %R 1000
215 ARG FF 6422261 Pkt 1 652 i 23 2 6229478kttt 232 IR Y =5 VKR 600
216 ARTIE ARG 6422261 9%kkk%1638 — 2 62294788k 982 IR Y 55 VKR 600
217 ARGIP ) 5 6422261 9%kxx1611 — 4 62294788 sskksksokok 709 IR 79 =5 UK %R 800
218 ARTIE R EEN 6422261 9%kxk%%1614 — P 4 6229478 8skkstskkskskk 427 IR 6 25 UK %R 800
219 ARG GISIES 6422261 9skkskskk 1645 — 2 62294 788skksksktieonk55 1 IR Y =5 VKR 600
220 ARGEIL ] T 64222619%%kk%%1618 — 5 62294788 kskkstok k42 1 IR Y 25 UK %R 1000
221 ARG W 6422261 Qs 161 1 it 23 3 62294788tttk 744 IR Y =5 VKR 900
222 ARTIE XIH i 6422261 9%%#k%%1659 it 2% P 2 62294 788kkskksksk932 IR Y 55 VKR 600
223 ARGIE R FY4H 6422261 skt 161X — 5 62294788skstkotoieonsk4 33 IR IR Y 55 UK %R 1000
224 ARGV FEX 64222619%k%x%1631 i 3% 5 62294788k k554 IR 6 25 VKR 1500
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225 ARGV T 64222619kt 1673 IR B W R 3 62294788 xkkkkx%%505 IR Y =5 VKR 1200
226 ARG T A% 6422261 9skkskskk 1638 i 22 4 62294788k xkkk%%210 IR Y =5 VKR 1200
227 ARGV T AE R 6422261 9%skkskxx1651 i 2% P 3 62294788 kkskkkkk 789 IR Y 25 VKR 900
228 ARGV T2 6422261 Pkt | 632 i 55 6 62294788 skkstkiok 81 2 IR F9 = UK %R 1200
229 ARTIE R FXCH 6422261 9%kxk%%1614 it 2% P 4 62294788kt 488 IR Y 55 VKR 800
230 ARGV FAERE 64222619%kkx%1619 — 62294788kt k887 IR F9 = UK %R 1000
231 ARTIE R Tz 6422261 9%kxk%%161X — P 3 622947884k 863 IR 6 =5 UK %R 900
232 ARG ERZN¥E) 6422261 kkskx%x1610 i 23 6 622947 88sekskkoksieodsk 779 IR Y =5 VKR 1200
233 ARGV T%E 64222619%xkk%%1612 i % F 3 62294788tk 330 IR Y 25 UK %R 900
234 W T 6422261 ks 1617 — 6 62294 788skssk4k35k49 66 IR Y 25 VKR 1200
235 Clap ) FFT+ 64222619k 1655 — 3 62294 788*kxkkk%%946 IR Y 55 VKR 1500
236 I WIEE 6422261 9sktiotsk 1616 — 2 62294788kttt 404 IR IR Y 55 UKk 800
237 Clap ) AN 6422261 9%kkkx% 1687 i 23 7 4 62294788 *kskkkk%1 10 IR 6 25 UK %R 800
238 WIS % 64222619%k%k%%161X — R 6 62294788skskkotsieosk 563 IR Y =5 VKR 1200
239 WIS T4 6422261 9skkskxk1619 — 6 62294788*kxkk5%%815 IR Y 25 UK %R 1800
240 WS BIE R 6422261 Qskssonk 629 — 1 62294788sekstkotieonsk 717 IR Y =5 VKR 200
241 Gl FIHE 64222619%kkx%x1617 i 23 71 2 62294788*kxk%x%%808 IR Y 55 VKR 400
242 WL W IEF 6422261 9sktiotsk 1630 — 2 62294788kt 021 IR IR Y 55 UK %R 400
243 W EFEE 6422261 9%skkxk 1616 — P 4 62294788 %k x%5%629 IR 6 25 VKR 800
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244 VAR W LI 6422261 9%kkk%%1610 — 3 62294788 skskkk3k(0 09 (TR €F 600
245 VAR M 6422261951618 — R 4 62294788kkskkkkx 1 (02 IR Y 25 VKR 2000
246 VAR WIEE 64222619541 655 — % 5 62294788 skkskkstkok | 38 (AN €7 1500
2417 W i K 6422261 Pk 1 638 — 4 62294788sekskkotseorsk21 1 IR Y =5 VKR 800
248 WIS W IE 6422261 9%%xk%%1 65X — 3 62294788 *kkkkk%248 IR Y 55 VKR 600
249 WL i 7K 1 6422261 ks 161 1 — 1 62294788k 377 IR Y 55 VKR 200
250 WIS T 6422211 9%k3k%%294X — R 3 62294788*kskkkk%153 IR 6 =5 UK %R 600
251 VAR WK 64222619%x*%%%1638 — P 3 62294788%xkkxk%%153 IR Y 55 UK 600
252 WIS i 6422261 9kkskk3k1615 — 3 62294788*kkk%k %476 IR Y 25 UK %R 1200
253 LRl [ 22 6422261 Qkskonk 1616 — P 2 6229478tttk 584 IR Y =5 VKR 400
254 Rl A 6422261 9%kkkx%1613 — 2 62294788*kxk%55%700 IR Y 55 VKR 800
255 I IR 6422261 9sktictsk 1670 it 5 3 62294788sekskkotleosk 257 IR 79 =5 UK %R 600
256 W Ve W 6422261 9kkxk 1612 — P 4 62294788k skskxkk% 757 IR 6 25 UK %R 1200
257 WS R 642226191616 — 4 6229478kt 732 IR Y =5 VKR 1200
258 VAR kot 6422261 9%kkk%%1689 — 2 62294788 skkskkskkk 492 IR W 2 VK 400
259 W B 6422261 9skskoik 1618 it 23 6 62294788sekskkotsorok85 1 IR IR Y 55 UK 1200
260 Rl 2= S 6422261 9%kkkx%1612 — 1 622947888010 IR Y 55 VKR 200
261 iRl ZHRTT 6422261 Pkkskx%x1610 i 53 6 62294788kl ] 55 IR F9 = UK %R 1200
262 WIS 2R 64222619k 1 63X — 2 62294788*kxkk5%%535 IR 6 25 VKR 400
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263 6422261 9%skk4k 1634 — 62294 788%kkkk0k %818 IR Y =5 VKR 600
264 6422261 954445163 1 — 62294 788#+4xx%%046 IR /Y =5 UK 800
265 6422261 93ksksk4%1612 — 62294788*kk x40k %559 IR Y 25 VKR 600
266 64222619kt 165X — 62294788 ksktkkk4 35 IR Y 25 VKR 1000
267 64222619tttk 1630 fii %3 F1 62294788tk 892 IR Y 55 VKR 1000
268 6422261 9sktiotsk 1619 — 62294788 skkkkkk585 IR Y 25 VKR 400
269 6422261 9%ksksk4%1613 — 62294788%kkkk0k%313 IR 6 =5 UK %R 2500
270 6422261 9kkkkx%1612 — B 62294788*k+kxx%%938 R B 25 VK 2400
271 6422261984k 1640 — 62294788%kk x4k %468 IR Y 25 UK %R 1200
272 6422261 9sekstkoisk 1635 — 62294788 kskkkdokk97T | IR Y 25 VKR 1200
273 6422261 9sekstolotok 1612 fii %3 F1 62294788tk 256 IR Y 55 VKR 800
274 64222619%kxkxx161X | BLIAAFaE 62294788 kxkkk4%191 IR Y 55 VKR 1200
275 64222619k 1651 — 62294788*kk x40k %339 IR 6 25 UK %R 200
276 6422261 9kkkxx1614 — B 62294788*kskkkxkk542 R Y 25 VK 1600
277 15 % 64222619%kkx%x1613 fii 23 7 62294788*kxk%5%%905 IR Y 25 UK %R 1200
278 W IR 6422261 9%kkkx%1613 — 62294788 xskkkkkk323 IR °9 UK %R 1200
279 w ER 6422261934k 165X — R 62294788 kkkskk%870) IR W 25 UK 800
280 W Tt 6422261 9%kkk%k1 654 — g 62294788%kkkk0kk 155 IR F9 = UK %R 1200
281 YNl 64222619k 1637 — 62294788*kkkkkk%242 IR 6 25 VKR 900
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282 A fRoCH 6422261 9oticien 1616 — 4 62294788 kkkr44%816 I Y 5 Uk 1200
283 A AT H 642226 1 9ot 1612 — 6 62294788kt 164 A5 9 5 UK 1200
284 | RHAM F e 64222619%x34+1619 — M 2 6229478 8sriciikxT81 35 T 5 DK v 800
285 A A 6422261 9kktkx1653 e A 69904 78S FHAHRFFEA08 IR UK 500
286 VA TH%E 64222619k ]1631 — B 4 62294 788kkkskskk 731 I Y 25 K 800
287 A R 6422261 9ksoktox 1612 e 5 69904 T8 HFHAHRFFE002 IR UK 00
288 A WA 6422261 9otk 1639 — 7 62294788 %kxkkk%204 ARG T 55 Uk 1400
289 A (R 6422261 9ksotkk 1617 — 4 62294 788kskk4k 747 ARG T 5 vk v 800
290 VAR R 6422261 Pk 1613 — B 3 62294788k 746 I Y 25 K 600
291 VAR AN 6422261 Pkt 1611 — g 5 699047884 kkAR1K920 IR UK 1000
292 HF X 6422261 9ksotkoon 1631 — g 4 62294788 kx40 68 AR5 I 5 UK 800
293 A W 64222619kt 1631 g 5 69904 78S HAHRFFE0G0 L UK 00
294 N AR 64222619tttk 161X — M 4 62294788k 299 I/ = Uk 1200
295 AR Ui R 6422261 Pk 1618 — 2 62294788kkkkokkk516 I Y 25 oK o 400
296 A 2= 6422261 Pk 630 — B 1 6229478 Lksksksksk694 I Y 25 0K 400
297 AR TR 64222619tttk 1622 g 1 699047884 ARK01 e — 200
298 HF = e 64222619tk 1615 — g 9 62294788 Hkxkkk4%30 1 AR5 I 5 UK 1800
299 A Rt 64222619tk 1619 e 5 T IR UK 1000
300 A oAb 6422261 9t 1635 — 3 62294788 #kr44%987 I Y 5 Uk 600
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301 A Y 6422261 9oticien 1616 — 2 62294788 #kkr45%810 I Y 5 Uk 400
302 AR O 64222619kt 1616 —fe 5 622947 88sskk3k3k3k5 1 90 R K 1000
303 I i 3L 6422261 94444%1634 — 6 6229478tttk 458 1R I T 5 UK 1200
304 AR i 64222619tttk 1618 g 4 699047884 ikkRk ] 63 e — 500
505 ARk KR 64222619 kkkkik161X i Y 5 62294788kt 101 1R Y =5 VK 1000
306 AR K 64222619tttk 161X g 9 69047884 ikARIK9A5 - 100
307 A T 64222619tk 1617 — g 4 62294788 kkkkkk4 797 AR5 I 5 UK 1600
308 A e SCHI 6422261 9ssotoksion 1 630 — 6 62294788k xkskrokk25 1 5L 9 5 UKV 1200
309 | RAM (ke 64222619% 0341619 — M 6 6229478 8scioiok523 35 T 25 DKo 1800
310 VAR AL 6422261 Pk 1613 — g 4 690047884k Rk 5T IR UK 500
311 HF ne) 6422261 9ksotioor 1611 — g 2 62294788k xkkk4%653 AR5 I 5 UK 400
312 A =L 64222619tk 1619 g 9 T L UK 500
313 HF A 6422261 9kskotkokox 1631 — g 3 62294788 kkrkkrak 247 AR5 I 5 UKV 600
314 A e R 6422261 9sksetx 1611 — 6 62294788 %kskokkok G2 | (R % UK 1900
315 I i 3 642226191631 — b 7 62294 788kkkkH%890) 1, I 25 vk 9100
316 AR Pl 6422261 9kkotkx 1647 e 1 T —— IR UK 200
317 HF KR 64222619tk 1616 32 5 62294788 Hkxkkk4%945 AR5 I 5 UK 1000
318 AR 15 SCfE 64222619tttk 1614 g 5 699047884k kARIKE08 e — 00
319 A = 3CHA 6422261 9torsio 1612 — 2 62294 788kkr44% 776 I Y 5 Uk 400
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320 A o 6422261 9o 1637 — 7 62294788 kkk44k362 I Y 5 Uk 1400
321 HA E 975 6422261 9ksotokk 161X — 4 622947 88kskkH4%T765 A 1 55 UK 800
322 VAR 5K 51 3L 6422261 Pk 1633 — B 1 62294 788kkkskskkk549 I Y 25 K 800
323 A R 64222619tk 1614 e 7 69904 78S FHAIRFFH TS| IR UK 100
324 | K AR | 64222619k 1615 — B 7 62204788 Hkainnd03 | IR FT T UKV 1400
325 AR KA 64222619tttk 1618 g 5 699047884 kARIKE 10 - 000
326 VAR 5K A 6422261 Pk 161X — B 4 62294788k 708 I Y 25 0k 800
327 HA 5K3C 6422261 9kt 1633 — 4 6229478 %kkokkkokG ] 4 (R 9 UK T 200
528 I ikl A 64222619%k****1619 — B 2 62294788kt 319 1RG5 Y =5 UK 400
329 AR SIS 6422261 9%k455% 1610 g 9 699047884 kkkRkA81] IR UK 100
330 A SREARH 6422261 9t 1 637 — M 4 62294788 #kkr44%666 I Y 25 Uk 800
331 AR S 64222619tttk 1618 g 3 699047884302 L UK 00
332 A 5K [ 6422261 9t 1653 — 5 62294788 kkkr44%697 I Y 5 Uk 1000
333 AR 5K i 6422261 Pk 1639 — g 3 62294788 kkkirttk336 R IR ki 600
334 A AR 6422261 Pk 61X — B 3 62294788kkkkk808 I Y 25 0K 900
335 | WA idiss 64222619550k 1613 —fg 2 62204788 kktorknk 150 | (IR AT B K 100
336 (Rt} FlaptE 6422261 9teletork 1623 — & 2 62294788k 38 I/ = Uk 400
337 A 75z 6422261 9ksoktokn 1627 e 3 69904 TSR HFHAARFFETID IR UK 00
338 VA RS 6422261 Pk 1613 AT 1 62294788kkskskkk 721 I Y 25 K 200
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339 AT &K 64222619k 1612 e 5 62294788% ks xk5%618 ICIR AR R 1000
340 (EEY) KRR 6422261 Pkkskx%1619 e 9 62294788tttk 7 26 IR AR 7R 900
341 fa[ g A % & 64222619%xkk%%1638 swYa 3 62294788 %xkskx%5%279 ICIR AR R 900
342 Al HE A VYAl 64222619kkk%x1619 Hanlll e 4 62294788 kkkokstckk 403 IR AR 7R 800
343 AT 244 6422261 9%kxk4% 1636 i 23 7 3 62294788*kxkk55%206 IR AR R 600
344 AT AT R 6422261 sksskonk 1619 Ranlll e 3 62294788kt k 269 IR AR 7R 900
345 fA[ S5 FhE 6422261 9kkskskk1615 e 1 62294788%xkskxk5% 799 ICIR AR R 300
346 (EEY) VR 64222619%kxk%%1691 sV 3 62294788kt 990 IR AR 7R 900
347 A YAt =0 64222619%3k%%%1630 sy 4 62294788k kkk% 364 ICIR AR R 800
348 AT LD REN 64222619%xkkxx1615 Lanlll e 5 62294 788sksskokkskk 787 IR AR 7R 1000
349 AT S5 FRIT 6422261 9%kkx%1634 = 2 62294788 %xkskxk5%189 IR AR R 600
350 (EEZY R} [ 64222619k 1614 e 2 62294788kttt ] 55 IR AR 7R 400
351 AT SR Sy WANL 6422261 9skkxk 1694 I 3 62294788%xkskx%k%%99 1 ICIR AR R 900
352 (EEYR &I 71 64222619%kk%%1637 sl 3 62294788sskkscotskodk 994 IR AR 7R 900
353 fAf R Cigagud 64222619%xk%x%1610 e 7 62294788 %kkxk8%(042 ICIR AR R 1400
354 (GEYE) JA/N= 6422261 9sktork 1 64X A 3 62294788 sskkotokk 327 IR AR 7R 900
355 [ At s 6422261 9%kxk%%1650 i 23 71 4 62294788 %k k%577 IR AR R 1200
356 fA[ A R 6422261 9%kkk%x1613 i 53 4 62294788 skkotsokok 4 79 IR AR 7R 800
357 RT3 A AR 6422261 9kkkk 1672 — P 5 62294788%xkkx%5%997 ICIR AR R 1500
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358 Al A IR 64222619%kxkx%1618 fiKfR P 1 62294788 *kskkkk%21 7 ICIR AR R 300
359 (EEY) Epanl 6422261 Qs 1 630 fIRER 4 62294788k kkk%% 105 IR AR 7R 1600
360 A YAt =% 6422261 Ptk ] 632 IR p 5 62294788%xkkx%5%036 ICIR AR R 1000
361 AT T 45 6422261 Ptk 1 63X A PR3 3 62294788k 58 IR AR 7R 1200
362 RT3 A CRo] 64222619%xkk%%1612 oAt A X P 62294788 skkokkokk 156 IR AR R 1200
363 R[S NEE=RA) 6422261 9%kkkxx1617 oA TR A 4 62294788tk 240 IR AR 7R 800
364 RT3 A Z IEH 64222619%k%%%163x Ay PR 3 6 62294788 %xkskkkk%54 1 ICIR AR R 1200
365 (EEEYR wHIRE 6422261 9tk | 655 At R X 6 62294788tttk 999 IR A 1200
366 fAf R DS 64222619%k%x%161x Ay PR 3 4 62294788% ks xk5%453 ICIR AR R 1200
367 AT TR 6422261 skt 1 652 A PR3 4 62294788k k68 T IR AR 7R 1200
368 fA[ A KR 64222619%skkxk1619 oAt A X P 4 62294788kt 276 IR AR R 1600
369 (EEZY R} 1B 6422261 9tttk 161 x oAt R X 5 62294788tttk 20 IR AR 7R 2000
370 RT3 A X IE 7 64222619%k%x%1618 Ay PR 3 2 62294788k sk % TTT ICIR AR R 400
371 A A T & 64222619kt 1617 oA PR A 2 62294788%kkkkok %329 IR AR 7R 600
372 (RN PRIPAE 64222619%xk%x%1616 FoAt A X P 1 62294788%xkkx%5%897 ICIR AR R 400
373 SCIEF SCIEF 6422261 Qksokonk 1616 — P 4 6229478skksckotsokok 257 IR Y =5 VKR 1200
374 VAT SCHHZEE 6422261 9%k*k%%1636 — 5 62294788*kxkk5k%%469 IR Y 55 VKR 1500
375 SCIEF 2EICF 6422261 Qs 1677 — P 3 62294788skksckotsolok 320 IR F9 = UK %R 600
376 SRS =581 6422261 9%kk4%1653 — P 2 62294788 %xkskx%5%405 IR 6 25 VKR 600
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377 VRt K& 6422261 Pksksokkk 161X FoAt A X P 6 6229478 8skksokkokok ] 32 IR Y =5 VKR 1200
378 S NEF 64222619%kxk%%1613 fIRER 5 62294788k kkk%%288 IR Y =5 VKR 1500
379 SRt ZEERIN 6422261 kksk%%161X FoAt A X P 2 6229478 Ssksokkkok k737 IR Y 25 VKR 600
380 SCIEF R 6422261 Qskssonk 1634 — P 2 62294788skksckotsokok 290 IR Y =5 VKR 400
381 VAT ZA 6422261 9kkskk1615 — 4 62294788*kskkkk%413 IR Y 55 VKR 800
382 S HRE 6422261 Pkt 1657 — 6 62294788sekskkotokk 969 IR Y 55 KR 1200
383 VRt JR ST 6422261 9kkskxk1619 — R 2 62294788 *ksk k%633 IR 6 =5 UK %R 600
384 SR NS 6422261 9kkk4% 163X — 6 62294788kt 083 IR Y =5 VKR 1200
385 SRS 2T 6422261 9skkskskk1613 — 5 62294788*kxkkk%%376 IR Y 25 UK %R 1500
386 SCIEF EXE 6422261 Qsksskonk 1636 — P 5 62294788kl k 988 IR Y =5 VKR 1500
387 SRS ~ER 6422261 9kkskonk 1631 — 6 62294788*kxk%x%%895 IR Y 55 VKR 1200
388 SCIEF ZER 6422261 Pkt 1635 — P 6 62294 78skksclotskolok 882 IR 79 =5 UK %R 1200
389 VRt Wy A0 6422261 9%%kkx%1631 — 6 62294788k kkkxk%%25 1 IR 6 25 UK %R 1200
390 SIS = 6422261 9ksk4k1612 — R 2 62294 788skksksktieok39 1 IR Y =5 VKR 600
391 SCIE R Mk 6422261 9%kkk%%1636 — 5 62294788k kkkok k554 IR W 2 VK 1000
392 SO A 6422261 Qkskonk 1614 — P 5 62294 788skkscloksokk 210 IR Y =5 VKR 1500
393 SRS RN 6422261 9kkskkk1615 — 62294788*kxkkk%%169 IR Y 55 VKR 600
394 SIS = 6422261 Pkt 1 632 — 5 622947884826 IR IR Y 55 UK %R 1000
395 VAT YAk 6422261 9%%*k%%1616 oAt A X P 6 62294788k ksok ok k332 IR 6 25 VKR 1800
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396 | AN KAH 642226 19%xk%4%1616 oAt R X F 6 62294788kt k66 1 IR Y =5 VKR 1200
397 | HEA4AY EXCS'E 6422261 9%skkx%1617 — 1 62294788k k623 IR 79 = VK% 500
398 | AR R 64222619%xk%x%1631 — 4 62294788%skskskksk %263 IR Y 25 VKR 400
399 | AV AR 6422261 9sekstioisk 1611 — P 3 6229478kttt 664 IR Y =5 VKR 1200
400 | VAN kK4 6422261 9%k*kx%1611 — P 2 62294788435 IR Y 55 VKR 800
401 BA R Tk A 6422261 9skkkk 1610 A PR3 4 62294788 skkokskokk 552 IR F9 = UK %R 800
402 | VAN REE 642226 19%kk%3%1628 — P 2 62294 788skksskkskskk 708 IR 6 =5 UK %R 800
403 | AV 1 642226193k 1655 — 2 62294788kt (052 IR Y =5 VKR 400
404 | HEVAN o EH 6422261 9%kkkx%1617 FoAth R X F 4 62294 788Kk 4%k 989 IR Y 25 UK %R 800
405 | VAN LA 6422261 9skkekiok 1659 A PR3 6 62294788kt 296 IR Y =5 VKR 600
406 | VAN ¥l s 6422261 9%kkkx%1633 — 2 62294788kt 253 IR Y 55 VKR 800
407 | HEARVANY R 6422261 Gkt 1 63X — 4 62294788 skkkotokok 737 IR 79 =5 UK %R 800
408 | R =Rl 64222619%k%x%1618 — 2 62294788%skskskksksk %36 1 IR 6 25 UK %R 800
409 | EAVR R 6422261 9kkskx%1610 — R 2 62294788k kk0k %197 IR Y 25 VKR 800
410 | VAN MR 6422261 9skkskx%1610 FoAth R X F 5 62294 788Kk kkk k685 IR Y 25 UK %R 1000
A11 | AN 24 HA 6422261 9sktsicotsk 1654 — P 4 62294 78skkscloksokok 81 7 IR Y =5 VKR 800
412 | BN = 6422261 9%kkkx%161X — 4 62294 788kkskkk8% 760 IR Y 55 VKR 800
413 | HBAVRY e R 6422261 9%kk3k1612 — 4 62294788k 367 IR IR Y 55 UK %R 1600
A14 | HEVEN KK 6422261 9%kxk%%1614 — P 5 62294 788skksskkskskk 230 IR 6 25 VKR 1000
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415 | VAN IR 6422261 9%%xk%%1610 — P 3 6229478 8skkstskdsksk k623 IR Y =5 VKR 1200
416 | AR ZEH 64222619#ksk4k1614 oAy PRI AE 6 62294788sekskkokieodok 565 IR Y =5 VKR 1200
A17 | BN bl 6422261 9%k 1617 — P 2 6229478 8skskstskotskskk 322 IR Y 25 VKR 800
418 | AV RER 64222619%%k%%1619 A PR3 4 62294 788skksckotsotok ] 40 IR Y =5 VKR 800
419 | HBVAN R 6422261 9%kk%4% 1658 — P 2 62294788k 350 IR Y 55 VKR 400
420 | HEARVANY == A 6422261 skt 1614 — 2 62294788 skkoksokok 456 IR F9 = UK %R 400
421 | BN ¥ R 6422261 k%1632 — P 2 62294 788skkstskkskskk 716 IR 6 =5 UK %R 800
422 | AV =E 6422261 9%k3k4%1627 — 62294788kt 005 IR Y =5 VKR 1000
423 | BN T 6422261 9%k 1628 — P 2 62294 788skkskskksksk k526 IR Y 25 UK %R 800
424 | BAEF N 6422261 Pkt 1612 — 6 62294788skskkokieodok 1 53 IR Y =5 VKR 1200
425 B A FEM 6422261 9%k 1622 fiKfR P 3 62294 788*kxk%5%%599 IR Y 55 VKR 600
426 H Y5k Wrzazs 64042520skk45k 1616 oAt R X 2 62294788kt 34 IR 79 =5 UK %R 1000
4217 B A EER 6422261 9%skkx%1624 Ay PR 3 4 62294788 %k x4k %397 IR 6 25 UK %R 800
428 H Y5k AR 64222619k4k4%1610 Ay PR3 7 62294788skskkokieodok 345 IR Y =5 VKR 700
429 B IR VAL 6422261 9kkxx1612 FoAt A X P 6 62294788 %k kkk% 229 IR Y 25 UK %R 600
430 B A ERE 6422261 Pkt [ 612 A PR3 3 62294788k k636 IR °9 UK %R 1800
431 B IR ik 6422261 9kkk 161X oAt A X P 62294788 skstkkokk 450 IR 9 =5 UK %R 600
432 H Y5k MRk 4 6422261 9skskoik 1615 oAt R X 3 622947 88sekskkotieorsk 240 IR F9 = UK %R 1800
433 B Mr& e 64222619%xkk%%1612 oAt A X P 6 62294788 %k x4k %033 IR 6 25 VKR 600
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434 B IR 5 6422261 9kkxx 1617 FoAt A X P 6 62294788k kk x4k %925 IR Y =5 VKR 600
435 H AT 4 SR 64222619%kkk%x1637 oAy PRI AE 4 62294788kt x93 1 IR 79 = VK% 800
436 BIFA Wi ok 64222619%xkk%%163X Ay PR 3 5 62294788 %k kkk% 268 IR Y 25 VKR 1500
437 BN Hl 6422261 9%kkk4x1612 fIRER 2 62294 788ksktokkoiesk 522 IR F9 = UK %R 600
438 B REZE 64222619%xkk%%1617 A PR 3 3 62294788k ksksksk k66 1 G 9 25 VKR 1200
439 IR IS 6422261 9%kkkxx1617 oA TR A 5 62294788tk 1 32 IR F9 = UK %R 1000
440 B & 64222619554 1610 fiKfRp 2 62294788 k%% %843 IR 6 =5 UK %R 800
441 B YEAS L 6422261 9skkskskk 1625 Ay PR3 1 62294788tttk 847 IR Y =5 VKR 500
442 =R &4 64222619%xkk%%1672 Ay PR 3 7 62294788k kkkkkk %291 IR Y 25 UK %R 700
443 B YRR R 6422261 Ptk 7673 fIRER 1 622947803kt 454 IR IR Y =5 KR 500
444 B IR G 6422261 9kskkk 161X oAt A X P 1 62294 788kkskkkk%599 IR 9 25 UK %R 500
445 H Y5k WEH 6422261 Qskssonk 1614 IRER 1 62294788skskkotieonok6 16 IR IR Y 55 UKk 500
446 B A J& & 64222619%xk%x%1619 oAt A X P 1 62294788% k% x4k %589 IR 6 25 UK %R 400
447 H AT FE® 6422261 Pkksokk 642 (7 1 62294 788Kk 45k %465 IR Y 25 VKR 500
448 B 223 64222619%kx5%%1610 fiKfR P 3 62294788k kkkkk4%52 | IR Y 25 UK %R 1200
449 B YRR g3 s 6422261 Qs 0620 fIRER 3 62294788skkskoksokok 510 IR °9 UK %R 1200
450 =R K IE 64222619k 1618 oAt A X P 4 622947884969 IR 9 =5 UK %R 800
451 B YEAS JEEHI 6422261 9%skkk 1619 A PR3 7 62294788 skkotsokk 770 IR F9 = UK %R 2100
452 B A XIS i 6422261 9%skkk5% 161X fiKfr P 6 62294788*kxkk5%%093 IR 6 25 VKR 600
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453 I A ZFH 64222619%kkx%1677 Ay PRI 3 62294788%sskskk5k% 306 IR Y =5 VKR 400
454 TRAEAT (i 64222619ksk4k1632 — R 62294788sekstkotieonsk 7 35 IR Y =5 VKR 800
455 TRIEA whE 64222619%xk%x%1617 Ay PR 3 62294788%sksksksksk %879 IR Y 25 VKR 1200
456 A R 6422261 9sksckik 1615 At R X 4 62294788kttt 432 IR F9 = UK %R 1200
457 IR %3 % 6422261 9%skkk 1633 — 4 62294788 %k x%5%923 G 9 25 VKR 1200
458 YRS G 6422261 9%**xxx1616 — 4 62294 788%#+kkx%%455 IR Y &5 UK 400
459 AT W 6422261 9%kk%x%163X — 7 62294788%skskskkksk%93 | IR 6 =5 UK %R 700
460 BIEAT FAM 6422261983k 1617 — 3 62294788kttt 390 IR Y =5 VKR 900
461 TRIEAS RIS 64222619%k4k4%1616 — R 4 62294 788*kk k%5942 IR Y 25 UK %R 1200
462 TR ]9 6422261 9%kxk1611 — 2 62294788 kkkskkrok 22 | IR °9 = UK %R 800
463 SR TR 6422261 9%k 1612 — 62294 788*kxk%%%%665 IR Y 55 VKR 400
464 YR [ EEpse 6422261 9%*kxxx1611 — 622947 88#++4xxx%887 IR Y 5 UK 1000
465 R Il 64222619%xk%x%1615 oAt A X P 62294788tk 318 IR 6 25 UK %R 1200
466 BRI = 64222619tk 1653 — 62294788 xskkkkkkT 4T KR F9 = UK %R 900
467 (ERUR R 6422261934k 1613 — 62294788k %148 IR Y 25 UK %R 1200
468 TR wHIRZY 6422261 9%kkk3k1 654 — g 62294788%kkkkok k453 IR °9 UK %R 800
469 IR Fida 642226195k 1651 oAt A X P 62294788 +sktokkkk9 19 IR 9 =5 UK %R 800
470 IR TR 6422261 9%kkx%1638 — 62294788%kkkkk%999 IR F9 = UK %R 1200
471 A WATR 6422261 9%kk%x%162X Ay PRI 3 62294788tk k438 IR 6 25 VKR 400
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472 1A IR 64222619%xk%x%1619 — % 3 62294788 %skskskskskeskok 192 IR Y =5 VKR 600
473 TRIEAT 173 5k 6422261 9sksskkk 1613 — R 2 62294788kt 395 IR Y =5 VKR 400
474 TRIEA M EE 6422261 9%kk%x%1622 — 2 62294788tk k 382 IR Y 25 VKR 800
475 TR P& 6422261 9%kkk1 622 — g 4 62294788 kkkkkok k317 IR F9 = UK %R 1600
476 IR ARANIT] 6227221 9%ksk4xx064 1 — 3 62294 788skktoksickok(018 G 9 25 VKR 600
477 YRS 10 B 6422261 9%*kxxx1625 — 1 62309586%*++xxxx596 IR Y &5 UK 600
478 R ZEF 64222619%kkxk1610 — 4 62294788%xkkx%5%976 IR 6 =5 UK %R 1200
479 ESTYN SYEE 64222619%kk4k1662 — R 1 62294788skskkokseosk853 IR Y =5 VKR 400
480 TRIEA wha 6422261 9%kkkkk1 694 — % 3 62294788 kkskkkk950) (TN €% 1200
481 AT IR TIAE 6422261 skt 161X — 4 62294 788sksskkkskk 586 IR Y =5 VKR 400
&it 1668 410000




